Calculus Homework Assignment 9
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1. Evaluate // / flz,y, z) dV for the
Jw

funetion
flzyy) =2ty

and region
W.y<z<2,0

specilied. [616.3 #11]

3. Sketch the region of integration and evaluale
by changing to polar coordinates.

2 T
/ / (#* 4+ y*) dyda
=20

[§16.4 #13)

2. Find the average of f(z,9,2) = 22+ y? + 2% 4. Clalculate the integral over the given region

over the region bounded by the planes y+

2z =1, by changing to polar coordinates.

[616.1 #23]

(Over Please)
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5. Let D = ®(R), where ®(u,v) = (1%, 2u +v) 7. Compute the line integral of the vector fiekl

over the oriented curve.
Al = 2 ¥ i HSUCILAaLe y . " . g i - -
and R =[1,2] x [0.6]. Caleulate / ./n y dA F =l 1), quiirter cirele sty = diwith &, 50

[816.5 #29] oriented counterclockwise [617.2 #24]

6. Find an appropriate change of variables to 8. Let F be the vortex vector field.

evaluate F _< —y x >
f S0y - 2 gt 2 2.0
//(::: b y)?e’ =" dxdy T r Ut ATy
4R

Compute / F - ds, where (g is the circle of

where R is the square with vertices

5
(1,0), (0,1), (—1,0), (0,—1). radius I? centered at the origin orieuted counter-
clockwise. Show that the result is independent

[616.5 #38) of R. [§17.2 #42]
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